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Ûf

ª

ªx

ªx

N = 39

Z¤
N

r

xr=2 + 1 = 0 ( 39)

N



x Z¤
39

x Z¤
N

©s =
1

r

r¡1

k=0

e¡
2¼isk

r ªxk N

¸ = e2¼i!

! = s=r (0 s r 1)

r x N

~! !
r x Z¤

N

N = 39 ~! !

x = 11 Z¤
39

ªx = Ãx1 Ãx2 : : : Ãx20

x1; x2; : : : ; x20

~! = 0:x1x2 : : : x20 = 0:10010101010100110110

!
©s

~!
s

r

1

2r2

r
N = 39

s = 3
x = 11

1

r
;
2

r
; : : : ;

r 1

r

x = 11



N = 39
x = 11

©s

ªx = Ãx1 Ãx2 : : : Ãx10

x1; x2; : : : ; x10

~! = 0:x1x2 : : : x10 = 0:1001110011

!

! ~!

~!
x = 11

N = 391 b = 31
y = 132

N
x = 5 Z¤

391

r xr=2 + 1
r

x


